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(ii) Trfea TgoTieh

(iii) B wrfaa smyfda

OR (3721dT)

Explain the following power factor improvement
equipment :-

(1) Static capacitors

(i1) Synchronous Condensers

(ii1) Phase advancers

fr=faRaa wfea pons gfgere I31 a1
ARAT BN |

() wifas arfkar

(ii) JoadIfeid ALTRA

(iii) Pl YIfTDRS

Use mesh analysis to find the current is each
resistor in the given circuit. 6
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Full Marks : 70
Pass Marks : 28

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (312r1ar)

Three resistances are connected in delta form.
Find the equivalent resistances when they are
connected is star from.

I gfeRier Seer wu d Wie & 2| W9 59
gferien &) R ®U d oiis od @ dl sl
gaged gfoRig |rd & |

Explain the behavior of A.C. through R-C series
circuit with phasor diagram and waveform. Find

the expression for power consumed in this circuit.
6

IAMRoflo Avfiiag uRUY A Todlo &T IATAROT
&l fod Ud O a1 & 1 AT B |
39 9Ruer ¥ vfed @ud & fov v e
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(i)

(iii)

(iii)

(iv)

3 1620302

o9 < fafr= yfoxien @1 aofisa o
SIST SITdT @ daf ... BT 2 |

(31) S9® HUX I dleeol $IU
(d) S9H UM ORT &I gdr8-d

(@) s fafy=1 a1 &1 gared

(@) 79 9 BIg 7L

Kirchhoff's voltage law is concerned with:
(a) IR drops

(b) Battery EMFs

(c) Junction voltage

(d) Both (a) and (b)

foRaI®w &1 drecw AR | wdfea
BIdl 28—

(31) 3TS 03[R o §’Tq

@) d<& faga aEd I

(W) SigeE dlecd

(3) (31) wd () <y

Which of the following is the ultimate source
of energy for us?

(a) LPG

(b) Nuclear energy

(c) Solar energy

(d) CNG
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Udhel bell Ugfd T & Prodar ugfa &1
SUANT B ® HId—bl SR 2?7 SHDI
qufq Y |

OR (3121a1)

Explain star connection in three phase system with
neat diagram and give relation between
(1) Line voltage and phase voltage

(i1) Line current and phase current

W@oe faa @ weradar 9 e ugfa o
TR T DI ARAT SR qAT

(i) AT dleeSl Ud Bl dlecol

(il) TS &IRT U4 Bl €RT & €19 498 T |

Explain resonance in R-L-C parallel circuit and

find expression for resonance frequency.

4
IR 59 § S RoUdodlo URyer &1

TG D AT R Yd g9 A ATGRT
& fau Fed g oW |
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(vi)

(vii)

(vii)

(viii)
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fagrg 4@ uRuer ¥ gy &1 w9
U B .....e... Bidl &

(@) Fepargard
(9) w11 dis e 81
(?) 379 9 @ig 7

In pure capacitive circuit, the power factor is
(a) Minimum

(b) Maximum

(¢) In finity

(d) Zero

fagrg e uRuer #, wifeq ponie

(31) g
CRESE
(®|) 3=
(<) T=

The R.M.S. value for a pure sine wave form
1Suiieiieenreeennns times of maximum value.

(a) 0.637

(b) 0.707

(c) 1.11

(d)1.414
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faea Rl &1 aR¥a a1 | fFais & arT (x)
e &1 foe ¢d Sugad Aicas @ 91T sHa)
T W |

R,=8Q R,=12Q

J_ NV VAV

12V =
[ Ry=80 (x)

OR(3721d)

Find the potential difference across R and current
flowing through R; using Kirchhoff's laws in the
given network.
(xi)
SWR fad M deds d fevaiv o faal &
SYIIT HR YfoRleg R; & SHUR fawar<r uq

gfoRigr R, § Yarfed &RT &1 419 S BN |

Define average value of an alternating current and (xi)
find an expression for it by analytical method.
4
Ueh gArad! gRT Iitad 99 & aRyifia &
Uqd 39 foru fazawur fafsr g1 e aavie
T BN |
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A series circuit is said to be is electrical
resonance when its net .............. 1S zero.
(a) Resistance

(b) Impedance

(c) Reactance

(d) None of these

td Hvfilag uRuer fagg<ig e o
a9 Pl Oldl & Sd SHDT HA ...
3= BIdT ©

(@) ufe_ie

@) ufcraren

CRIGEIG

(?) s & ®Ig T

Quality factor of R-L-C electric circuit can
be increased by increasing, the value of.......
(a) Resistance

(b) Inductance

(c) Capacitance

(d) All of the above

MRoYclodlo fagd ufkuer &1 oraar
AONE e P A DI QTP 9T
SIT bl 8—

(31) ufasie
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(|) deari=
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(xviii) AT &1 gAY ¥ AT STET 2 |

(xix)

(xix)

(xx)

@) o ffdpa gd ey Acas
@) o Py vd sRE™ Acas
(@) v Gf$ha vd & G

(]) v wfpa vd aRE™ Aicas

Which method is the best for voltage
sources?

(a) Mesh analysis

(b) Nodal analysis

(¢) Super position principle

(d) None of these

dieesl Aidl @ fov 994 resT fafer
P 87

(31) A9 fagayor

(@) s fazatyor

(W) eIy fagia

(?) 379 4 B 7T

Norton current is equal to the current passing
through the short circuited ........... terminals
(a) Input

(b) Output

(c) Both (a) and (b)

(d) None of these

NT3021

9 1620302

xiii) 2vf} 95§ 3MRo Tdlo Hlo URYY H FHalT

(xiv)

(xvi)

I & fou O aw® 2 |
@) 6t (XXc)

X +X¢

@ o=t (FLEc)

R
X %)

@) o= tan'l(

@) o= tan’!( R )

X +Xc

In a three phase delta connected system.
(a) Line current = phase current

(b) Line voltage = phase voltage
(¢) Phase current = V3 x line current

(d) Phase voltage = V3 x line voltage

U edr Seer I ugfa A7 —
(31) <39 9RT = B9 gRT

(@) <13 dlee™ = B dicedl
(F) B °gRT = \3x AT &RT
(]) ® dlecd = 3x dIg dlecd
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40Q 60Q

J_ NV /\/\/\/‘—l

1zovT 200 T65V
fod 1 9Ruy & yd® ufaRig § aRT &7
A AY favalyor gRT ST &R |

120V é M 65V
[ 200 [
OR (3721dT)

Find the current in each resistor in the given circuit
using Nodal analysis method.

o AAAA o
T WA

12V = =38V
10Q 200 [

fod T 9Ruy & yd® iRl d aRT &7

q9 Aied fagayor fafer grr sita &3 |
20 40 10Q
J_ AVAVAYAY VVAAA AVAVAYAY J_
12V = =38V
10Q 200 [
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40Q2 60Q

X

fod T 9Ruy & yd® ufoRig § aRT &7
A AY favalyor gRT S1d &R |

40Q 60Q2

OR (3721d)
Find the current in each resistor in the given circuit
using Nodal analysis method.
20 40 10Q

J_ AVAYAVAY
12V = = 8V
10Q 200 [

fod T 9Ruy & yd® iRl d aRT &7
a9 Arsd fazayor fafer grT sita a3 |

12V £ W\/\/_J_; 8V
10Q 200 [
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